

Vendor Ranking

Contract: Z8143

08240109 Letting:

January 09, 2024 02:30 PM Call Order: 006

Turnpike District:

Counties: CITRUS, HERNANDO,

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HILLSBOROUGH, PASCO, TURNPIKE

Project(s): 4436116E211

Page 1 of 1

Contract Desc: PRE-EVENT SIGN REPAIR AND REPLACEMENT

Rank	vendor vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.	Responsive	Winning bid	\$172,550.00	100.00%Inten	nt to /
2	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$200,282.81	116.07%	
3	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$265,450.00	153.84%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 23, 2024 AT 4:00 PM



Tabulation of Bids

Page 1 of 6

Letting: 08240109 January 09, 2024 **Call Order:** 006 **Contract:** Z8143

District: Turnpike Counties: CITRUS, HERNANDO, Fed Aid No: fedprojects

Contract Time: 365 CALENDAR DAYS

HILLSBOROUGH,
PASCO, TURNPIKE

Project(s): 4436116E211

Contract Descr: PRE-EVENT SIGN REPAIR AND REPLACEMENT

The purpose of this Contract is to provide Sign Repair and Replacement Operations, including permanent repairs, pursuant to a Governor's and/or Presidential Declaration of a State Emergency. This Contract will be a regional contract that includes Citrus, Hernando, Hillsborough, and Pasco counties within D-8/Florida's Turnpike. The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

- 1. NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.
- 2. Award is contingent upon legislative budget approval and availability of funds.
- 3. Awarded Contractor must execute documents within 10 days.
- 4. General Liability, Auto and Workman's Compensation Insurance required.
- 5. FHWA 1273/Davis-Bacon Wage Rates
- 6. The Contractor shall provide a letter to the department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000,00.

Line No / Item ID Al	ternate Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) TU INFRASTR	RUCTURE	(3) ACME BA	RRICADES LC
() indicates item is bid as Lum		Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SIGNS(GRNI	O SIGNS 30 SQ FT	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GRO MOUNT, UP TO 12 SF	5.000 OUND AS		3,500.00	942.46000	4,712.30	2,000.00000	10,000.00
0010 0700 1 12 SINGLE POST SIGN, F&I GRO MOUNT, 12-20 SF	3.000 OUND AS	1	6,900.00	2,477.82000	7,433.46	4,000.00000	12,000.00
0015 0700 1 13 SINGLE POST SIGN, F&I GRO MOUNT, 21-30 SF	2.000 OUND AS	· ·	7,000.00	2,965.10000	5,930.20	5,000.00000	10,000.00
0020 0700 1 14 SINGLE POST SIGN, F&I GRO MOUNT, 31+ SF	1.000 OUND AS		5,000.00	3,514.17000	3,514.17	7,500.00000	7,500.00



Tabulation of Bids

Letting: 08240100 January 00 2024 Call Orders 006 Centract: 78142

Letting:	08240109	January 09, 20)24 Ca l	I Order: 006		Contract:	Z8143	
Line No / Item		te Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) TUF INFRASTR	UCTURE	(3) ACME BA	RRICADES LC
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	PARTNEF Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0025 0700 1 2 SINGLE POST SIG MOUNT INDEX 11 SF	N, F&I BARRIER		3,000.00000	3,000.00	3,037.35000	3,037.35	4,000.00000	4,000.00
0030 0700 1 2 SINGLE POST SIG MOUNT INDEX 11	N, F&I BARRIER		3,500.00000	3,500.00	3,567.00000	3,567.00	4,500.00000	4,500.00
0035 0700 1 3 SINGLE POST SIG MOUNT INDEX 11 SF	N, F&I BRIDGE	1.000 AS TO 12	3,000.00000	3,000.00	3,213.90000	3,213.90	6,500.00000	6,500.00
0040 0700 1 3 SINGLE POST SIG MOUNT INDEX 11	SN, F&I BRIDGE	1.000 AS 20 SF	3,500.00000	3,500.00	3,743.55000	3,743.55	7,000.00000	7,000.00
0045 0700 1 8 SINGLE POST SIG		5.000 AS	300.00000	1,500.00	500.78000	2,503.90	750.00000	3,750.00
0050 0700 2 1 MULTI- POST SIG MOUNT, UP TO 1	N, F&I GROUND	2.000 AS	4,000.00000	8,000.00	5,890.88000	11,781.76	8,500.00000	17,000.00
0055 0700 2 1 MULTI- POST SIG MOUNT, 12-20 SF	N, F&I GROUND	4.000 AS	5,300.00000	21,200.00	6,527.27000	26,109.08	9,000.00000	36,000.00
0060 0700 2 1 MULTI- POST SIG MOUNT, 21-30 SF	N, F&I GROUND	2.000 AS	6,500.00000	13,000.00	6,972.98000	13,945.96	12,500.00000	25,000.00

Page 2 of 6



Tabulation of Bids

Letting: 08240109 January 09, 2024 Call Order: 006 Contract: Z8143

Letting:	: 0	8240109	January 09, 202	24 Ca l	II Order: 006		Contract:	Z8143	
	No / Item ID Description	Alternate	Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) TUI INFRASTR	RUCTURE	(3) ACME BA	RRICADES LC
() indic	cates item is b	id as Lump Sum		Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
		F&I GROUND	1.000 AS	8,000.00000	8,000.00	12,012.23000	12,012.23	15,000.00000	15,000.00
MULTI- P	0700 2 15 OST SIGN, 51-100 SF	F&I GROUND	1.000 AS	12,000.00000	12,000.00	14,295.83000	14,295.83	20,000.00000	20,000.00
		GROUND MOU	1.000 INT, AS	8,000.00000	8,000.00	6,006.00000	6,006.00	12,500.00000	12,500.00
SIGN PAN	0700 3101 NEL, FURNI MOUNT, U	SH & INSTALL P TO 12 SF	5.000 EA	320.00000	1,600.00	714.71000	3,573.55	750.00000	3,750.00
SIGN PAN	0700 3102 NEL, FURNI) MOUNT, 12	SH & INSTALL 2-20 SF	5.000 EA	1,200.00000	6,000.00	1,424.94000	7,124.70	1,000.00000	5,000.00
SIGN PAN	0700 3103 NEL, FURNI) MOUNT, 2	SH & INSTALL 1-30 SF	2.000 EA	1,500.00000	3,000.00	1,848.66000	3,697.32	1,500.00000	3,000.00
SIGN PAN	0700 3104 NEL, FURNI MOUNT, 3	SH & INSTALL 1-50 SF	2.000 EA	3,000.00000	6,000.00	2,696.10000	5,392.20	3,500.00000	7,000.00
SIGN PAN	0700 3105 NEL, FURNI) MOUNT, 5	SH & INSTALL 1-100 SF	1.000 EA	5,000.00000	5,000.00	4,814.70000	4,814.70	7,500.00000	7,500.00
SIGN PAN		SH & INSTALL , UP TO 12 SF	1.000 EA	2,000.00000	2,000.00	5,128.46000	5,128.46	2,500.00000	2,500.00

Page 3 of 6



Tabulation of Bids

Letting: 09240100 lenvery 00 2024 Cell Ordery 000 Centracty 70142

Letting	g: 08	8240109	January 09, 20	24 Ca l	II Order: 006		Contract:	Z8143	
	No / Item ID Description	Alternat	e Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) TUR INFRASTRI	UCTURE	(3) ACME BA	RRICADES LC
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 3202 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 12-20 SF	1.000 EA	2,500.00000	2,500.00	5,467.44000	5,467.44	3,500.00000	3,500.00
	0700 3203 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 21-30 SF	1.000 EA	6,000.00000	6,000.00	5,891.16000	5,891.16	4,000.00000	4,000.00
	0700 3204 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 31-50 SF	1.000 EA	7,500.00000	7,500.00	6,738.60000	6,738.60	5,500.00000	5,500.00
	0700 3205 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 51-100 SF	1.000 EA	10,000.00000	10,000.00	8,857.20000	8,857.20	9,500.00000	9,500.00
SINGLE		SH & INSTALL SE MOUNT IND D 12 SF	1.000 EA DEX	1,000.00000	1,000.00	3,522.75000	3,522.75	1,000.00000	1,000.00
SINGLE		SH & INSTALL SE MOUNT IND SF	1.000 EA DEX	1,500.00000	1,500.00	5,288.25000	5,288.25	1,500.00000	1,500.00
0140 SIGN P.	0700 3401 ANEL, INSTAL	.L, UP TO 12 S	5.000 SF EA	200.00000	1,000.00	335.78000	1,678.90	650.00000	3,250.00
0145 SIGN P	0700 3402 ANEL, INSTAL	.L, 12-20 SF	5.000 EA	350.00000	1,750.00	335.78000	1,678.90	800.00000	4,000.00

Page 4 of 6



Tabulation of Bids

Page 5 of 6

Lettin	g : 0	8240109	January 09, 20	24 Ca	II Order: 006		Contract:	Z8143	
Line No / Item ID Alternate Quantity Item Description Units			(1) TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.		(2) TURTLE INFRASTRUCTURE		(3) ACME BARRICADES LC		
	dicates item is b	id as Lump Sum	CC	Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (SIGNS(GRND SIGNS 30 SQ FT OR LESS)(UN								
0150 SIGN P	0700 3403 ANEL, INSTAL	.L, 21-30 SF	1.000 EA	1,000.00000	1,000.00	830.78000	830.78	1,200.00000	1,200.00
0155 SIGN P	0700 3404 ANEL, INSTAL	L, 31-50 SF	1.000 EA	2,000.00000	2,000.00	1,325.78000	1,325.78	2,000.00000	2,000.00
0160 SIGN P	0700 3405 ANEL, INSTAL	L, 51-100 SF	1.000 EA	4,000.00000	4,000.00	1,985.78000	1,985.78	3,000.00000	3,000.00
0165 REPAIR	E700 46 32 R EXISTING S	GN (MULTI PC	3.000 OST) AS	1,200.00000	3,600.00	1,826.55000	5,479.65	2,500.00000	7,500.00
000		D SIGNS 30 S R LESS)(UN)	ection Totals:		\$172,550.00		\$200,282.81		\$265,450.00
		Contract G	rand Totals:		\$172,550.00		\$200,282.81		265,450.00



Tabulation of Bids

Page 6 of 6

Letting: 08240109 January 09, 2024 **Call Order:** 006 **Contract:** Z8143

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.